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Q-1 Match the following: {(7)
A B
1. Dimanche a. Friday
2. Vendredi b. Tuesday
3. Lundi c. Wednesday
4, Mardi d. Saturday
5. Samedi e. Thursday
6. Mercredi f.  Sunday
7. Jeudi g. Monday
Q-2 Match the following: {12)
A B
1. January “a. Juillet -
- 2.Se;.)temberr b. Mai
3. August c. Janvier
4, April d. Fevrier
5. July e. Aout

6. February

f. Septembre

7. March g. Octobre
8. October h. Mars
9. December i.  Novembre

10. Jun

j.  Decembre

11. November

k. luin
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6. Cinguante-six -

7. Cent -

1

8. soixante-sept

9. Vingt -

10. Deux -

(-
Q-7 Match the Following:

(5)

A

1. Bonjour a.

Welcome

2. Bienvenue b.

Good morning

3. Bonne nuit C.

Good evening

4. Comment CaVa? d.

Good night

5. Bonsoir : e.

|

How are you?

Q- 8 Unjumble the words:
1. BNOUIJR
2. ARUOVIER
3. BNNOTIUEN s s
4. BNSORIN

5 SAULT

Q-9 Re-arrange these sentences in the correct order:

Canadien/sommes/nous.

i

PO / 11/ ET. 1rerevove e soree cenvessan oo s e s AR
BIES/SOME/IE e rer e recnesosmsasssss s s st s e e

BEES/ETOSSE/VOUS. crerr v veeeeemmssss s e o

(5)

(08)
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Q-11 Replace un, une, des byle, la, les.

(4)

Follow the example:
Example: Unepomime = La pomme

1. UNEEOMALET ooesvesevsecercissasesresnss s s | )
2, UNFrUit = e i
3. La pomme de teITe = v s

A, UN FAISINT vt

X e A e X
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Y1 BofHletell oltzel Anostcl Acidl wal yrieo{l Al 2,

Explain structure of Argument give detail in Truth and Validity.
Wl
(ootetell wal cufaell vouiot dA dgicld -l
Exptain difference between 'Deductive and Inductive inference.r
(B) oflA WAl ysllell As ~ A clLsalrl oyctiol WL (SlSul ALR)
1. ARONY Aol ued wau.
Give the meaning of logos word.
2. ulojHlolol el SRl N BAWAUHL 2t B?
What is other name of Inference?
3. ttdite] yan s sy ©?
What is first function of langauge?
4. fdetell [Quiell a2 sl dejd slay B?
~ Witch relation between Inductive sentences?
5. lejHielMl Bectl [Quiell sl §?

How many sentences are in Argument?
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6.cdbaumell 2ot 519 53 B?
Who has created Logic?
Y2 Gelgotl UsiRl (Aot dmemal,
Explain types of Definition in detail.
'\’J.{&LQI.
ot yst3l Huestell doll (ot gl 2l
Explain types of meaning in detail.
(B) ;ﬁa el yslloll A5 — A clsaUHl ol UL (SlEUEL AR)
1.8l ol My, Faell ol Sl B?
How many types of definitions structure?
2.A8Qell 3l Hecl 87
How purposes of Definition?
3.08etl Bectl ysi? 87
How many types of meaning?
4,480l UM &g s B?
Which is the first purpose of Definition?

s.cladEifas Aol A 83 B?

What is Denotation indicates?

04
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Which type of Descriptive definition?
. 3cdPEas cattlell ustlod Ratd gl v,
Explain types of Denclative n\“teaning in detail?
Aal
U USBUA WA AESAl GlRl MUl A&lRl aamcﬂ.
Explain definition by Genus and differentia?
(8) {12 W usﬂcﬂ Ay — o qtszui‘t arclled AL (Sleuel et
1.G&RL AU A2A 9)? |
What is the definition?
2.2l dalRell sul el usl? 82
Which type definition is Subjective definition?
3.3¢ [[Es c—t&tqmt?&tt Aol usl? 872
Which type definition is Conventional definition?
g.ausuld vl AESl Gl WUl GalRlell UslR 32cl 87
How many types of definition by Genus and differentia?
5.c2l(Usst{cd Wl RESeL alRl AUl c—t&t&mt@u:ﬁ y2cl 87
How many rules of definition by Genus and differentia?

U4 c2liAE et Yool slloto] ctollspL unmdll,

14
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Explain Classification of knowledge given by nyaya philosophy.
wHYdl
ellllogHiot wa uRLalsjHietoll Amgrdl 2.
Explain svarthanuman and pararthanuman.
(8) ol et ol s — & clLselul waol SN REEAEREY 03
Ly Aed g7
What is praman?
2.0t eoplotoll Yyt deell Ysiz 87
How many types of Indian argument?
3.01cel Rl2Le et Hor ol Ao Hiatoll 3actl YslR 8?
How many types of anuman as per nvya nayaya philosophy?
4. U0A oMol o2l 5L ol A HL w1 B?
Which other name pararthanuman know?
5 dccllellol HuRl Ysi? kecll 87

How many types of Hetvabhasa?
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ENGLISH VERSION

Tnstruction : Figures to right indicates full marks.

1 (a)

“Unity in diversity is the main feature of Indian Culture”. Discuss this statement.

OR

(a) “Archacology is the soul of history”. Keeping this. Satement in mind describe the
archacological sources of cultural history of India.
Write the answer of any four in brief :

(b))

2 (a)

(a)
(b)

(i)
(ii)
(i )
(iv)
(v)
(vi)

Titixavruti MEAns ......coerereeeens

No language NO .....coveevueinne

Which mountain is located on the east of India?

Who worte Ashtadhyayi?

Give the name of poeat Bhattis poefry.

From which period does the documented history of India start?

Narrate in brief the philosophy of upanishads.

OR

Give the idea about the four ashrams and four varnas during the vedic period.
Write the answer of any four in brief :

(1)

(ii)
(i )
(iv)
(v)
(vi)

Explain the meaning of Mohen-Jo-Daro.

Which signs have been used in the symbolic worship of Harappan civilization?
Which playing instruments have been availed of the Harappan civilization?
Explain the meaning of Ved.

Which elements have been discussed in Yajurveda?

Which document is the oldest of mankind?

1y

14

14



3 (a)

(a)
(b)

4 (a)

(a)
(b)

0703Mi842-3

Describe the effects of Mahabharat on Indian culture.
OR

Narrate the contribution of Buddhism to Indian culture.

Write the answer of any three tn brief :

(i)  Which book was written by Tulsidas?

(ii) Mention the positive characters of the Ramayan.

(iii) Mention the female nagative characters of the Ramayan.

(iv) Give the name of the sects of Jainism.
(v) Clear the Triratna of Jain religion.

Write in detail about the Vatsa, Anga and Gandhar.
OR
Mention the influences of great Alexander on India.
Write the answer of any three in brief ;
(1)  What was the name of Alexander’s father?
(ii)  To which kingdom did great Alexander belong to?
(iii) Who was the founder of Nand dynasty?

. (iv) How far was the Koshal state extended?

(v) To which kingdom did Dhananand belong to?

4

14
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ENGLISH VERSION

Figures to right indicates full marks.

Give the meaning and importance of Political Science.

Discuss the scope of Political Science.

OR

Answer any four in one or two Sentences :

(1)
(2)
(3)
(4)
(5)
(6)

Give the name of the Father of Political Science.
Difference between Political Science and Politics.
One method of study of Political Science.

Two prominent Political Science thinkers.

Author of the book “The Republic’.

Relationship of Political Science with Economics.

What do you understand by “State’ ? Explain ifs features.

OR

Define state and discuss its importance.
Answer any four in one or two sentences :

(1)
(2)
(3)
(4)
(5)
(6)

State as a natural institution.

The most important element of the State

How does a State become a Nation ?

What is the territory of a State.

According to Plato, what should be the population of a State ?
Give the name of the element that runs the State.

Explain the Bvolutionary- Theory in context of the origin of the State.

OR

Discuss the Social Contract Theory.
Answer any three in one or two sentences !

(1)
(2)
(3)
(4)
(5)

T. H. Green’s criticism of the Force Theory.
Theory of Natural Rights.

Roussean’s General Will.

Author of ‘Leviathan’.

Economic factor in the origin of the State.

What is Sovereignty ? Review the features of Sovereignty.

OR

Discuss Austin’s Theory of Sovereignty.
Answer any three in one or two sentences :

(1)
(2)
(3)
(4)
(5)

De Jure and De Facto Sovereignty.
Origin of the Word Sovereigny.
Groups and Organisations in Pluralism.
Sovereignty in a Democracy.
Sovereign Power in a Dictatorship.

14

14

14

14

14

14



D\

h.}l -

1A /43 0703M844 Candidate’s Seat No :

B.A. (Sem.-1) Examination
cC 1
Geography

Time : 2-30 Hours] March 2019 [Max. Marks : 70

HHLR0) YA HsA ot U &8 11 uRUL D WA yocll of oituRel 2l Q)
LR
YA () B2 Yot U Blosoll aRcllate o) Retic UM,
uaLa. (o )o{l Aol Yot ool (0¥)
.‘1. RV ERTERY BuaSl ol et jvan é.(xo,xé, ¥Y %)
2y ol el otws ol s B, (Holo, 04,943, 95)
3.yl A Jeeu Guydl . |
¥, B Yol U B0 sl BY oAl Sell,
YHR.() 1;155?1 Ul Aell YSLA Anendl, (1)
Ugkal |
- HER(U) Yeell of setot-uetet unenel, Al g2 ol RULCYE 3N Unendl,
YsR.(o) ol Aoyt u&iloﬂ. ycllell w1 (0%)
Lyeclloit Rerond 230 ejRatscl of) _ U8R WSSl ol B.(welget, wBA g, QA gct)
2.3cllat v{ss'laﬁ Alell ey Gualol _ Galowi s B.(RRo2, il 1512, 51N

3.glauol Aell G20 slayall e auyull Ml WA B. (852101, 1200kt o 85252 )




M&il- o

¥.clie] Bl wss B,
Yal3. () ucliu ol vaited wedl, Aol R WARUR AR AL (a%)

Al
YAl 3. () ol ol YstR) uadl w Qe deamend),

Ya.3.(0) o{lAotl ysteil weyiod

(03)

1L uRcdlSU oll 2o Jecu B?

. urdlsy Hiuelell ditiote] ot 2

3.cllell Ball 20t o1l Slat B?

ua.x.(m).otél GLRL RUCAL YAULRAMS ¢ LA voutet 2, (1¥) |

u

YELY. (M) YalollglA ALl ¢ vustd ol quo W,

Yoy (o) o{lRsll Ysllotl el il (03)
T AR oAl Hua & ysiR GuRict{lant ysiz A 88 ®.(elllAs viawe,FQAs vicwy)

RN ¢ SR ol 22 ol el 8. (Uctel, o€l Bratdl)

3R | Ul o well et gs B[Ry, AR, detlleann)



M S~ 2
GUJARAT UNIVERSITY EXAMINATION 2018

B.A. SEMESTER 1
CORE PAPER -101
(Physical Geography -1 - Lithosphere)

Total Marks: 70 | Duration: 2:30 hours

Q. 1. (A} Give a short introduction to the members of the solar system and explain
~ the structure of the Earth. (14)

OR

Q.1.(A) Explain the Jeans-leffreys Tidal Theory

Q.1. (B) Answer the following questions: (4)
1. ___ satellites exist in the solar system. (40, 42, 44, 46)
2. The nearest planet to the Sun is . (Mars, Jupiter,

Mercury, Saturn)
3. How many natural satellites does the Earth have?
4. To which country did James Jeans and Harold Jeffreys belong?

Q. 2. (A) Discuss the different types of rocks and their various kinds. (14) -
OR

Q. 2. (A) Discuss the movement of the crust of the earth and explain the
formation of fault zones and land forms.

Q.2. (B) Answer the following questions: (4)
1. rocks are formed by the cooling of lava which emerges from
the Earth’s crust. (sedimentary, igneous, metamorphic)
2. Sandstone is utilized the most in industry. {cement,
construction, soda ash)
3. Cotopaxi, the highest volcano, is located in country. (fran,

Saudi Arabia, Ecuador).
4. What kind of rock is Copper?




M &4u-4
Q. 3 (A) Discuss Earthquakes and explain its effects and world distribution.  (14)

OR
© Q. 3. (A} Explain the Volcano, its types, effects and distribution across the world.
Q. 3. {B) Answer the following questions: | (3)

1. How many different types of waves occur during an earthquake?
2. Name the instrument used to measure earthquakes.
3. What is the colour of Lava?

Q. 4. (A) Discuss in detail the different kinds of land formations formed due the
erosion by rivers. _ (14)

OR

Q. 4. (A) Explain the different kinds of land forms created by wind erosion.

Q. 4. (B) Answer the following questions: (03)
1. The third type of denudation is known as . (Physical
denudation, Bio-denudation)
2. is responsible for the creation of Waterfall induced
landforms. (Wind, River, Glacier)
3. Hot water springs can be found in in Saurashtra. (Virpur,

Sattadhar, Tulsishyam)
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~ Instruction : Figures to right indicates full marks.

1 (a)

(a)
(b)

2 (a)

(2)
(b)

Define food and explain its classification according to its functions.
‘ OR
Define nutrition and discuss food groups in detail.
Write the answer in one two sentences (any four) :
(1) What is balanced diet?
(2} Whatis nutritional status?
(3) One main advantages of sprouting
(4) Give the sources of Vitamin A
(5) Whatis Vitamin from sunlight?
(6) The name of scurvy is due to which vitamin deficiency oceurs.

Write the functions of protein deficiency of protein.
_ ‘ OR
Explain in detail the classification of carbohydrate.
Write the answer in one two sentences (any four) :
(1) Give the name of water soluble vitamins.
(2) The name of night blinds is due to which vitamin deficiency oceurs.
(3) Whatis the effect of excess fat on the body?
( 4) Which nutrients arc essential for the structure of teeth and bone?
(5) Whatis the disease caused by iodine deficiency?
(6) What sugar are found in milk.

iy
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14



3 (a)

(a)
(b)

4 (a)

(a)
(b)

0703M845-3

Functions, sources and diseases caused by vitamin C deficiency.

OR

Functions, sources and diseases caused by vitamin D deficiency.
Write the answer in one two sentences (any three) :

(1)
(2)
(3)
(4)
(5)

Explain the importance of minerals in rbody and explain in short about Iron or Calcuiam.

How many calories is 1 gram fat?

(i) 6 calories (ii ) 9 kalories (iii ) 3 calories ( iv ) 4 calories.
Which nufrients are essential for eyes/

(i) Vitamin A ( i ) Vitamin B ( iii } Vitamin C ( iv ) Vitamin D.
Anemia occurs from which nutrient deficiency?

(1) Iron (ii) Fat (iii ) M (iv ) Water.

How many calories is 1 gram protein?

(1) 4 calories (i ) 6 calories ( iii } 9 calories (iv ) 3 calories. |

What kind of Vitamin is niacin?
(i) Fat soluble { ii ) Water Soluble ( ili ) Acidic ( iv ) Alkaline.

OR

Explain the importance of water in body and its sources.
Answer the following questions (any three) :

(1)
(2)
(3)
(4)
(5)

Give the name of fat soluble vitamins.

What are the diseases caused by Thiamine deficiency?

What is the iron element in our body?

Which is the creation of mitk products?

The action of fermentation incteases the amount of nutrients in the dish.

14

14
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Paper CC-I-101: Computer Applications

(Computer Fundamental & Applications) Marks : 35.
Q.1 (A) (1) Explain Generation of Computer. 4
(2) Give name of Storage devices and explain any one. 3
OR
(A) (1) Give name of Input and Qutput device and Explain any one device. ‘ 4
(2) Explain Characteristics of Computer 3
Q. 1 (B) Give full form of followings (Any 2) ' 2
ALU,DVD, OMR
Q.2 (A) (1) Draw and explain initial screen of MS Word 4
d exp
(2) Explain following command of Word. 3.
Drop Cap , Change Case
OR
(A) (1) Give Characteristics of MS Word. : 4
(2) Explain Spelling Checking option in MS Word. 3
- Q.2 (B)Fillin the blanks (Any 2) 2
(D . is extension name of word file.
(2) is the short cut key for Paste option in Word.
(3} is the short cut key for GOTO.
Q. 3 (A) (1) Explain Mail Merge facility of MS Word. 4
(2) Explain Different types of Alignment in MS -Word . ' 3
OR ‘
(A) (1) Explain How to create Table in MS Word. Discuss How to Delete/Insert Row
" And column in Table . 4
(2) Explain different type of Tabs in MS Word. 3
Q. 3 (B) Fill in the Blanks.(Any 2) 2
(ty is the short cut key for Spelling & Grammar.
(2) is the short cut key for save a Word document.
(3) is the short cut key for inserting Hyper Link in MS Word.
Q.4 (A) (1) Give Characteristics of Power point 3
(2) Explain Custom Animation option of Power Point. 3
OR
(A)(1) Write down steps to create presentation in power point. 3
(2) Explain different Views of Power point. 3
Q. 4 (B) Fill in the Blanks (Any 2) 2
(0 is extension name of Power point File
2) is the short cut for Slide Show in PowerPoint.
3) is the short cut for making Duplicate slide in PowerPpoint.
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ENGLISH VERSION SEM -1
102 (Core) outline of philosophy

clectsitets{l 3UduL

1. (A) Give Definition of philosophy as western point of view
OR :

1. (A) Introduce any four branches from major branches of philosophy

1. (B) M.C.Q (Any Four) _

(1) What is the subject-matter of philosophy?

(A) Reflective (B)comparative (C) mental (D) Scientific

(2) Which one of the following pairs is not coherent?

(A) epistemology- What is knowledge (B} Phil. Of religion

(C) ontology- What is Power (D) Ethics -- What is Morality?

(3) Is meaning of mazahab? ,

(A) Godway  (B)Highway (C)way (D)Madhya marg

(4) Which one of the following is part of religion? ‘

(A} Trasna (B)Kama (C) artha (D)knowledge

(5) In Whose opinion mind is bundle of sensation

(A) Plato (B) Dewey (C)Hegel (D) Hume

{6) Who is the founder of purva mimansa?

(A) Kanada (B) kapila (C) Rama (D) jaimini

2. {A) Explain the similarities and relation between philosophy and science
OR

2. (A) Explain the relation and Difference between philosophy and religion

2. (B) M.C.Q) (Any Four)

(1) Which is moral evil?

(A} Earthquake (B) untrue (C)accident (D) epiclemic

(2) What is the meaning of Sophia?

(A) Thinking (B) Love (C) Wisdom (D) Logic ,

(3) Descartes theory of mind and Body relation?

(A) Interactions (B) Theism (C) Parallelism (D) Epiphenomenalism

(4} The Founder of Yoga System

(A) Patanjali (B) Iswarkrishana (C) Kapila (D) Gauttam

{5) What is the Darshan?

(A) Logic (B) Philosophy (C) Sociology (D) Ethics

(6) Which Rishi is connected with vaisheshika System?

(A} Gautama (B) kanada (C) Patanjali (D) Vishwamitra

3. (A) Explain any three theories regarding the relation between body and mind
OR

3. (A) Explain the problem of Evil

(14)

)

(14)

(4

(14)
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3. (B) M.C.Q (Any Three)

(1) Descartes theory of mind and Body relation?

(A) Interactions (B) Theism (C) Parallelism (D) Epiphenomenalism
(2) The Founder of Samkhya System

(A) Iswar Krishna (B) Patanjali (C) Kapila (D) Gautama

(3) Which system is called seshwar sankhya

(A) Yoga system (B) nyaya (C) vaisheshika (D) nothing

(4) Which Rishi is connected with Nyaya System?

(A) Gautama (B) kanada (C) Patanjali (D) Vishwamitra

(5) According to whom there is no Duality between mind & Body
(A) Sankhyasystem  (B) epiphenomenalism (C) panpsychism

4. (A) Clarify the classification of Indian philosophy
- OR
4. (A) State the general characteristics of Indian systems
4. (B) Short question (Any Three)
(1) Pain is a terrible reality to him who experiences it — was said by
(2) What kind of evil cyclone is?
(3) Mind means certain types of behavior who said so
(4) Which system is named Aulukya Darshana?
(5)What is epiphenomenalism?

Nt
P s

()

(D) Parallelism

(14)
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Q-1 (A)Explain the meaning of constitution und give its various definitions. Discuss the salient
features of ideal constitution. f14]
OR
Write an essay on separation of power.

Q-1 (B) State true or false: (any 4) [04)

I. Gilchrist R.N. is the author of “Political Science and Governments”,

2. Aristotle presented the classification of constitution after studying the constitutions of 158
countries. :
The assemblies of 75 states have to make an application to bring a change in the
constitution of America.

4. The freedom of the people of the state is not put into danger when the constitution of the

State is versatile.

s

5. There is an extreme increase in the power of the State and severe damage is caused to the
purpose of the constitution at the time of emergency.

6. The neutrality of the Supreme Court is inevitable for the proper functioning of the
provisions of the Federal System.

(-2 (A) State the various types of formation of Legislative Assemblies and its functions. [14]
OR '
Comparatively discuss one house and two house legislative assemblies,

Q-2 (B).Select the correct alternative: {any 4) [64]
[ The second house is mainly formed by ... Llypes.
[A] 02 [B] 03 [C] 04 [Dfos
2. In which country Witenagemot Council used to meet?

[A] Britain  [B] America [C] Greece [D] Athens

3. The American Parliament is known as the ...,

[A] Parliament [Bl Sansad  [C] Congress [D] Cantonment
4. ... is the author of “Elements of Political Science”.

[A] Dr. Leacock Stephen [B] Brice James

{C] Leki W. E. H. [D] Garner J.W.



5.

MEFR— 3

vvov.. 18 supreme in England.
[A] Prime Minister  [B] Assembly [C] Constitution [D] Judiciary

Q-3 (A) State the various types of Executive and write a note on their functions.  |14]

OR
Discuss the merits and demerits of Presidential Executive.

Q-3 (B) State true or false: (any 3) ‘ 03]

1.
2.

7 R S 5

There is President in India, but not the Presidential Governing Systen:.

The real executive in Britain is the Queen as she has financial, judicial, legislative and
executive powers. -

The Prime Minister and the cabinet of ministers are known as political executive in india.
Shadow government is formed by the members of the ruling party.

North Court Trevellian Committee was formed in Britain to appoint the officers of Civil
Services.

Q-4 (A) Clarify the concept of “Justice” and write a note on working of Judiciary. [14]

OR

Discuss the inevitability of freedom of judiciary on the basis of the concept of law.

Q-4 (B) Select the correct alternative: (any 3) l [03]

=

| ]

laws are considered as the tmportant features of British. American and Indian
judicial system.

[A] Constitutional ~ [B] Administrative  [C] Federal  [D] Judge Created Laws

A provision to remove the Supreme Court Judge from the position is made in Article
...... of the Constitution of India.

[A] 121 (1y ' [B]123 (3) [Cl124(4) [D]127

“Judiciary is the strongest pillar of the government”. Whose statement is this?

fA] Winston Churchill [B] Leskey L. I.

[C] Meriott J. AL R. [D] George Washington

The structure of Indian Judicial System is like a ......

[A] Pyramid [B] Semi Circle [C] Circle [D] Cube

The retirement age of the judges of the Supreme Couwrt of India has been decided as .."...
years. -

[A] 58 years [B] 60 years - [C] 62 years [D] 65 years

_— X - — K
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Note: . All Questions carry equal marks.

* Draw neat diagram wherever necessary

Students can use map stencil with the political boundaries only.
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SEM -1
Core: 102
Geography
Geography of Gujarat (Physical)
T Mows Marks: 70
Note: All Questions carry equal marks.

Draw neat diagram wherever necessary

Students can use map stencil with the political boundaries only
QL. {A) In the context to the world, discuss the importance of the geographical location of Gujarat
state, ‘ (14)

Or

Q!. (A) Give the physiographic divisions of Gujarat and write a geographical note on the plains of
Guyjarat. .

Q1. (B) Fill in the blanks (Any four) (04)

i. The international border is located at the direction of Gujarat. (North east,
northwest, south west)

ii, Latitude passes through the middle of Gujarat. (Arctic circle, Tropic of Cancer,
Tropic of Capricorn)

iti. The name of Gujarat was derived from people of race. (Gurjar, Jat, Bhil)

iv. Marbles, Zinc and Copper are available from the hills of in North Gujarat. {Arasur
Hills, Hills of Gir, Hills of Sapura)

v. The middle hills of Kutch range from __in the west to Vagad in the east. (Anjar, Bhuj,
Lakhpat)

vi. Plain in Kheda district is known for the cultivation of Tobacco. (Viramgaam,

Charotar, Gandhinagar)
Q2. (A) Write a geographical notes about the main rivers of Tal-Gujarat. (14)
| Or
Q2. (A) Discuss the Geographical factors that affect the formation of the climate of Gujarat.
2. (B) Fill in the bianks (Any Four) (04)

i. The region of is known for cotton cultivation between Mahi and Dhadhar rivers in
South Gujarat, (Charotar, Kanam, Viramgam})

it. The river of Central Gujarat is known for its ravines. (Sabarmati, Narmada, Mahi)

P-7: 0.
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iii. In South Gujarat, there is a high proportion of the cultivation of vegetables and
(Grains, fruit, tobacco)

iv. The lagoons and sand dunes in Gujarat are located in field. {Bottom Gujarat, Kuich,
Saurashtra)

v. The hot and dry winds blowing in Gujarat are called . (Hot winds, sea waves, foo)

vi. The winter crop in Gujarat is called . {(Kharif, ravi, jayd)
Q3. (A) Introduce various rocks seen in Gujarat and explain its distribution in Gujarat. (14)
Or |
Q3. (A) Write a note about alternative energy resources in Gujarat.
Q3. (B) Fill in the blanks (Any three) {03)

i. The metal is made from the bauxite. (Copper, aluminium, zinc)
“ii.. Gobar gas is prepared from . (Organic waste, cement, natural gas)

ili. Calcite is more used in industry. (Fertilizer, glass, paper)

iv. The area of Panandhro is Known for . {Cement, porcelain, lignite coal)

v. The Gandhac region of Gujarat is known for ___ . (Mineral oil, bauxite, clay)
Q4. (A) Explain the types of forests of Gujarat and introduce the forest resources. (14)
Or
Q4. (A) Introduce the types of soil in Gujarat and explain its distribution in Gujarat.
Q4. (B) Fill in the blanks (Any three) 03)

i. There are types of trees in the Mangrove forests. (Acacia, Chair, Timru)

it Soil is useful for paddy cultivation. (Rice tand, black soil, alluvial soil)

ii. Timber is obtained from the forests of Gujarat. (Acacia, chairs, teak)

iv. Percent of the total ge;)graphicai area of Gujarat is covered with forests, (9-10, 10-
20, 20-30)

v. Velavadar Sanctuary is known for . {Black, chunderous, chinkara)
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Figures to right indicates full marks.

Give information about use of equipment of sewing machine?

OR

Write about the importance of clothing textile.
Attempt any four questions :

(1)
(2)
(3)

Which scientist have discovered séwing stitch?

( a) Thomas Rent ( b ) Willium Rent ( ¢ ) Zuker Biraj ( d ) Einstein.
Which number needle is used in half shuttle machine?
(a)l0(b)14(c)l6(d)18

Which equipment is used for sign of pocket and dart on clothes7

(a) French curve ( b ) Thimble ( ¢ ) Marking Wheel ( d ) Dummy stand.

Y

¥

14



2 (a)

(a)
(b)

(a)
(b)

(a)
(b)

(4)
(5)
(6)

- 0803M874-3

Which equipment is used for fiddding thread in Bobin?

(a) Bobin board (b)) Tailors square ( ¢ ) Scade (d ) Bobin winder.
In which year sewing machine was discovered in India?
(a)1920(b)1430(0)1840(d)1760 '

Which equipment is used to draw diagramme?

( a) Measure tape (b ) Scale maap ( ¢ ) French curve (d ) Tailors square.

Write about the general principles of clothing construction.

OR

Discuss points to be kept in mind while shopping of children dress.
Write the answer in one sentence (any four) :

(1)
(2)
(3)
(4)
(5)
(6)

Which cutting is used for saving clothes?

What is used for casual stitching in sewing machine?

Which equipment is used to draw in figure?

Which tool is used for design like zigzag during cloth cutting?
Which tool is used for up-down of needie? '
Which table is used for cufting?

Give information about mental and physical effects on children due to clothes.

OR

Write detailed note on creeping chiddren clothing.
Write the answer in one sentence (any three) :

(1)
(2)
(3)
(4)
(5)

Which type of cloth to be used for children in winter?
Which type of design preferable in children garement.
In which measurement readymade garment available?
Where is brown paper used?

Which fabric is used maximum for children garements.

Write about the importance of laundry equipments also draw a necessary figure.

OR

What is stain? Write about the techniques of stain removal.
Answer the following questions (any three) :

(1)

(2)

(3)

()

(3)

Which tools are used for washing of cloths?

( a)Iron (b ) Suction washer (¢ ) Laundry ragent ( d ) Drawing table.
Where is used process of cadendaring?

(a) Mill and big Iaundly ( b) Home ( ¢ ) Bank ( d ) Factory

What is used for finishing of white dress?

(a) Solvent ( b ) Blue and starch ( ¢ ) Absorbent ( d) Detergent & Brush
What is needed for drying of silk fabric?

(a) Clothline ( b ) Sunlight with open space

( ¢ ) Shadow with air circulation space ( d) Coat

How many types of washing machine?

(a)4(b)3(c)2(d)o.

14

14

14
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ENGLISH VERSION

Instruction : (1) Figures to right indicates full marks.

1 (a)

(a)
(b)

.2 (a).

(a)
(b)

3 (a)

(a)

(2) Draw diagram wherever necessary.

Explain the meaning and Scope of Political Science.
‘ _ OR
Discuss the relationship of political science with economics.
Answer any four in one or two lines :
( 1) Who is the father of political science?
(2) Who has written the bach republic?
( 3) Isapolitical science a science?

(4) What is the relation of political science with geography?

(5) What is politics?
(6) Wrile two significance of political science?

Define state and discuss its elements.
' OR

‘“What are the main functions of the state.

Answer any four in one or two lines :

(1) Whatis territory?

(2) Whatis Society?

(3) Whatis Government?

(4) What is dieerence between state and Government.
(5) What is difference between state and Nation.
(6) What is power? ‘

Write an essay o Social contract theory.
‘ ' OR
Examine in detail the evolutionary theory of state.

1%

03

14

04

14

04

4
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4 (a)

(a)
(b)

0703M899-3

Answer any three in one or two lines :

(1) Explain force theory _
(2) Give two contribution of force theory.
(3) “Mightis Right” - Explain.

(4) Who has written leviathan book

(5) Who has given general will idea.

Explain the main characteritics Sovereignty.
OR

Discuss the Sovercignty in the contect of changing Global scenario.

Answer any three in one or two lines :

( 1) What is origin of the word Sovereignty?

(2) Who has given the monistic theoy of Sovereignty?

( 3y What is Defacto Sovereignty? )

(4) Whatis popular Sovereignty?

(5) Give the main idea of pluralistic thory of Sovereignty.

03

14

03
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Q. 1. {A) Explain the structure of the Earth. Discuss the distribution of land and
water bodies on the earth. (14)

OR
Q.1. (A) Explain the Jeans-Jeffreys Tidal Theory
Q.1. (B) Answer the following questions: | (4)

1. Where are the hot water springs of Gujarat situated?
2. The SiAl layer is made up of which mineral elements?
3. Name the natural satellites of Jupiter.

4. Give the definition of a ‘Nebula’.

Q. 2. (A} Discuss the different types of rocks and their various kinds. (14)
OR

Q. 2. (A) Explain the formation of folds and fault zones and the resultant land

forms.
Q.2. (B) Answer the following guestions: : (4)

1. Where is ‘Allahabandh’ situated?

2. Whatis a fault line?

3. Where is the longest rift valley of the world located.

4. 'Coal mineral can be obtained from which kind of rocks?

Q. 3 (A) Discuss Earthquakes and explain its effects and world distribution.  (14)
OR

Q. 3. (A) Explain the Volcano, its types, effects and distribution across the world.



Mol &

Q. 3. (B} Answer the following questions: (3)

1. Give the name of any one volcano situated in India.
2. Graphite is used the most in . (detergents, soaps, pencils)
3. The word ‘igneous’ means in Latin of Greek. ( water, land, fire)

Q. 4. (A) Discuss in detail the different kinds of land formations formed due the
erosion by Glaciers. (14)

OR

Q. 4. (A) Explain the different kinds of land forms created by the sea.

Q. 4. (B) Answer the following questions: | (03)
1. Lakes in the sea are called . (loas, lagoons, polzet)
2. valleys are formed by the erosion by rivers. (V ~ shaped,
U-shaped) |

3. Mushroom rocks are formed due to . {(wind, rivers, sea
wages) '
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ENGLISH VERSION

Instruction : Figures to right indicates full marks.

1 (a)

(b)
2 (a)
(b)

(1)
(ii)
(i)
(i)

Write difference between primary data and secondary data.
State sources of secondary data.
' OR
What is the meaning of classification? Explain importance of classification.
From following data, prepare a frequency distribution having class interval 20 and
one class 1s 30-50 :
48, 72, 40, 100, 86, 23, 49, 60, 103, 111, 80, 40, 23, 48, 90,
86, 55, 40, 72, 111, 86, 70, 25, 56, 88, 70, 79, 60, 57, 68

Give answer in short ;

(1)

(i)
(i)
(iv)

(1)
(i)

(1)
(i)

(1)
(i)
( iii )

(iv)

State two characteristics of an ideal questionnaire.
Write meaning of contineous variable.

Write defination of class-interval.

Give inning of direct inquiry.

Explain importance of diagrams and graphs.
From following frequency distribution, draw histogram.
Class ; 10-15  15-20 20-25 25-30 30-35 35-40  40-45
F: 8 15 30 22 15 10 4
OR
Explain method of drawing frequency curve and frequency polygon by using histogram.
From following frequency distribution, draw cumulative frequ;:ncy curve of “less
than” and “more than” type : '
Class : 10-20  20-30  30-40  40-50  50-60 60-70  70-80
F: 4 10 18 20 35 15 8

‘Give answer of the following questions in short :

Which curve is used to find median and quartiles?

Which curve is also known as Qjive curve?

Write formula to find proportionate frequency when in construction of histogram
with different class interval.

What is the main difference between frequency curve and frequancy polygon?

~1 ~3

[P.T.O.
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(b)

4 (a)

(b)
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(1)  Write ments and limitations of mean.

(i)  From following frequency distribution, find %, z and Q,. :
Class : 10-20  20-30  30-40 40-50 50-60 60-70 70-80
F: 6 10 12 20 10 5 7

OR

(i)  Give definations : Meadian, Mode, Quartile :

(ii)  From following freq. distribution find M, Q, and P
Class : below 15  15-30 30-45 45-60 60-75 75-90 above 90
F: 12 20 35 60 40 18 5

Give answer in short :

1) IfM =22 and ¥ = 26 find value of z.

() Find mean of the observations 2, 5, 8, 11 and 14

(i) Find mode of observations 6, 8, 5, &, 3, 6, 5.

(1)  Wrte definations : Dispersion, Average deviation coefficient of variation.
(1) From followmng frequency distribution, find coefficient of variation
, Class: 0-9 10-19  20-29 30-30 40-49 50-59
F: 2 5 10 15 10 8
_ OR :
(1)  Explan positive and negative association with diagram.
(ii) From following freq. distribution, find coefficient of skewness by Bowley’s method :
Class: 10-19  20-29 30-39 40-49 50-59 60-69 70-79
F: 4 10 20 25 15 10 6
Give answer in short :
(i)  Test any two test of skewness. .
(i) By which formula, coefficient of skewness mey lie from - 3 to + 3.
(iii ) When mode is ill-defined in frequency distribution?
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Note: Draw neat diagrams wherever necessary

Q1. Explain about the India’s International limits and borders in detail. (14)
Or
Q1. Give the definition of Defence studies and explain its subjeci matter.
Q1. (B} Fill in the blanks (Any four) 4
i.  Wagah International border is located on the Wagah village of Pakistan and

village of India. (Kutech, Lahore, Attari)

ii.  The length of the marine border of Indiais ____ km. (6100, 1600, 5230)

iit. _ Country is not located on the border of India. (Bhutan, Myanmar,
Maldives)

iv.  Murray Island is situated between Indian Ocean and _ Ocean, (Pacific,

Arctic, Arab)

v.  The border formed in 1947 between India and Pakistan is called
{Redcliff Line, Line Of Control, Wagal border)

vi.  The action of defending from attack is called . {game, defence,

revenge')

Q2. (A) Define the term “Resources” and discuss about the non-conventional energy

resources of India. (14)
| Or
Q2. (A) Write a note on coal and natural oil resources of India.
Q2. (B) Fill in the blanks (Any four) 4)
i. Fluorspar mineral is mostly found in State of India. (Gujarat, Rajasthan,
Banglore)
il. QGujarat ranked i term of wind renewable energy in India. (First,
Second, Third)
iii. Copper, derived mainlty from Rajasthan and state. (Bihar, Gujarat,
Karnataka)

P.T 0.
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iv. Iron s mined principally in Madhya Pradesh and state. (Bihar, Gujarat,
Haryana)
v. All of India’s petroleum mostly comes from the offshore Field. (Bombay

High, Madhya-Pradesh, Haryana)
vi. India is endowed with a rich variety of mineral resources due to its varied
structure. (geological, geographical, Historical)
Q3. (A) Clarify the relation between Defence Studies and Philosophy. (14
Or

Q3. (A) Explain the relation between defence science and the other subjects,
Q3. (B) Write true or false (Any three) ‘ 3)

1. Treaty is also called Strategy.

. India’s present defence minister is Arun Jetly.
ii. To defeat the enemy is called tactic. -

iv. The aim of the army is to attack.

v. After Second World War, cold war was started between America and Europe
Q4. (A) Describe the causes of war in detail, (14)
Or
Q4. (A) Describe the different types of war,
Q4. (B) Write true or false (Any three) | 3)

i.  Type of Gorilla War is an organized war system.

ii. The atomic war is the non-traditional war system.

iii. When a war fought with words is called hot-war. -

iv. Thumba Equatorial Rocket Launching Station is situated at Hyderabad.

v. Economic war is the type of hot war.
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Q1 A

Q1 B

Q2 A

Q2 B

Q3 A

Q3 B

Q4 B

Explain first and third generation of Computer.

OR _
Explain any three output Devices with example,
Do as directed. (Any Two)

(1) Mention the name of first computer launch in the market.

(2) IBM stands for .
(3) Who is known as father of Comptuer?

Explain the characteristics of Word A'pp[ica'tions.
: OR
Discuss Text Wrap and Change Case option with example.

Do as directed. (Any Two)
(1) Which company developed Word Application?

(2) What is the use of F1 function key in Word Application? -

(3) How many menu’s are available in Word Application?

Explain Format Toolbar with example in word application.
- OR .

Explain Hyperlink with example in word application.

Do as directed. (Any Two)

(1) What is the use of CTRL+F shortcut key in word application?

(2) What is the extention of Word Application File?
(3) What is the use of Alt+F4 key in'word application?

Explain the screen layout of Powerpoint Application.
OR

Explain Master Slide option in Powerpoint Application.

Do as directed. (Any One) :

07

02

07

02

07

02

07

01

(1) How many menu’s are availalbe in Powerpoint Application?
(2) Write only use of F5 func_tion key in Powerpoint Application.

kdkk BEST OF LUCK *%ioks
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1103M928-2

ENGLISH VERSION

Instruction : Figures to right indicates full marks.

1 (a)

(a)
(b)

2 (a)

(a)
(b)

3 (a)

(a)
(b)

4 (a)

(a)
(b)

Clarify the definition of Philosophy westem paint of view.

OR
Give an Introduction to any four branches of Philosophy.
Fill in the blanks (four) :
( 1) Philosophy ward in ...........c..... Language.
(2) Philosophy 1Sa .cccmiirnnen Grammer
( 3) Indian Philosophy is a .............. Sastra

(4) The meaning of ‘Darshan’ in English word of ................
(5) Mimmansa means ...............
( 6) The meaning of Samkhya is .......c..c....

Give an Introduction to Philosophy’s and the Religion work is ...............

OR
Critisise the Philosophy and Science.
Fill in the blanks (four) :
(1) Science is a ................ knowledge.

(2) The Religion, Science and the Philosophy’s work is .......c..c.......

(3) 'Religionisa ... point of view of Patrika

(4) s method of Religion

(5) InReligion ............. substanse

(6) ... Parts of Science.

Explain the mind and Body Relation Problems.
OR

Explain the Problems of Evil.

Fill in the blanks (three) :

(1) According to Spinoza the mind 18 .......ccoeeee.
(2) The meaning of “Chayavada as .................
(3) Thereare........... types of Evil

"~ (4) According to Descart the mind 1S ...

(5) ‘Kriya-Pratikriya means’ ..................
Classification of Indian Philosophy.
OR
Explain the Metaphysics and Epistemology of Indian Philosophy.
Fill in the blanks (three) :
(1) Western Philosophy is only ..o
( 2 ) ‘Rutumbharapragna means .........c......
{ 3) Indian Philosophy teach .............
(4) Thereare ..cooeeninn, Number of Astika Darshan
(5) Thereare .....ccooeennenn, Number of Nastika Darshan. -

14
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ENGLISH VERSION

Instruction : (1) Figures to right indicates full marks.

(a)

(a)

(a)
(b)

(2) All questions are compulsory.

Define constitution, Explain the characteristics of Ideal Constitution.

OR
Explain Montesquie’s theory of Saparation of Power.
Answer any four of one-two lines :
(1) Documentary constitution
(2) Classification of Aristotle
(3) Aristrocracy
(4) Define Democracy
(5) The fears of constitution
( 6 ) Fundamental rights.

Explain the composition, power and functions of lagislature.
OR

Explain with detail of the functions of Bicameral legislature.

Answer any four in one-two lines :

(1) The Speaker of Loksabha

(2) The composition of Rajyasabha

(3 ) House of Commons

(4 ) House of lords

(5) Senate '

(6) President election.

What is Executive. Explain the functions of executive ?
OR '
Discuss of the meants and demerates of presidential executive.,
Write any three in one-two lines only :
(1) Opposition Parties in Democracy
(2) Nominal and real executive
(3) Paliamentary Executive
(4) Shadow Ministerial
(5) The President.

Discuss with detail in the judiciary’s operations as the main organ of the Government ?

OR

Write a note on the referance judicial review in the context of the juidiciary.

Answer any three in one-two lines :
(1) Impichment

(2) Judicial Activism

(3) Theory of Justice

(4) Judicial Freedom

(5) The objects of the Public Cases.

14

14
04

14

04

14

14
03

14
03
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BA Sem- 1Problems of Indian Economy-1( Elective-102) (Old)
(a)  Explain:- Gross domestic product and Net national product. (14}
OR '
(a) Explain the concept of national income, and discuss methods of measuring
“pational income,

(b) Choose correct option for the following. )
(1)  What is the Gross Domestic Product called at market price?

(a) GDP {(b) GNP

(© GNI (d) NI ‘

2) For what reasons the net national income is less than total
National income?
(2) Depreciation cost (b) investment cost
(¢)  Public expenditure  (d) consumption expenditure
(3)  Who gave the term ‘Hindu Growth Rate’?
(a)  Prof. Rajkrushn (b)  Prof. Amartya Sen
(c) ~ Prof. Daantwala (d) Prof. D. T. Lakdawala

- (4)  To obtain total national product what is added in total domestic product?

(a) net foreign income  (b)  tax income

~(c) subsidy (D)  import
(a) Discuss the share of agriculture, industry and service sectors in the (14)
national income of India.
OR
(2) Discuss the share of public sector in national income of India.
(b) Choose correct option for the following. 4

(1) In which year were the important changes in Indian economic
policies implemented?

(a) 1980 (b) 1991
(c) 1985 (dy 1995
(2)  How many components of economic reforms are there?
(a) Four . (b) Three
(c) Two (d) One

3) How many people were receiving employment from the primary
“total labour supply in 1999-20007?

(a) 72.1 by 68.8
(©) 66.6 (dy 56.7
(4)  How many ways are there of privatization?
(a) Three (b) Four
(c) Five (dy Two

P70
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What is green revolution? State its advantages and disadvantages. (14)
~ OR
Explain remedies to increase productivity in agriculture sector in India.

Choose correct option for the following. (3)
Who did the Bhudaan Movement? | _

*(a) Jayprakash Narayan (b) Vinoba Bhaave
(c) Rammanohar Lohiya (d) None of the above

Which agricultural scientist inspired the green revolution in the world?
(a) Norman Borlaug (b) Edmund Florence

(c) Colleen Clark (dy  None of the Above
which country has the biggest organic farming in the world?
(a) Asia (b)  Ausiralia
(c) America {d) Saudi Arabia
State the causes of high birth rate and low death rate in India. (14)
OR
Describe the recent population policy of Government of India.
Choose correct option for the following. 3)
In 2011 the population of India was ............... crores.
(a) 102.9 (b) 121.02
©) 1067 (@ 1054
Which year is considered as the great divider year in India?
(a) 1951 - (b) 1947
(c) 1950 (d) 1921
what was the total percentage of literacy in India in 20112
(@) 725 by 752 '

() 732 (@  74.04
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BASem- 1Problems of Indian Economy-1( Elective-102) (New)

(a)  Discuss the difference between developed and developing countries. (14)
OR

(@) Give the meaning of developed economies, describe its characteristics,
(b)  Choose correct answer from the following options. (4)
(1)  “Development is a multidimensional process” This statement is given

by

{a) Marshall (b)  Michael Todaro

.(c)  Eugene Staley (d  Mechalp

(2)  Inthe year 2014 per capita income was Rs. In India,

(a) 74866 (b) 85497

(c} 75889 d) 90779

(3) When a country’s economic development increases which sector’s
contribution decreases?
(a) Agricultural sector (b) Industrial sector
(c) Service sector (d) None of the above

(4)  The developed capitalist countries such as America, England and
Japan are included in which part? :

(a) Third world countries (b) First world countries
(c) Second world countries (d) Fourth world countries
(a) What is population explosion? Discuss the causes of population (14)

explosion in India.
OR
(a)  Describe the recent population policy of Government of India.
(b} Choose correct answer from ihe following options.
(1) The population of India in 2011 was ..........

(@ 1029 S b)  121.02
(c) 106.7 (d) 105.4
(2)  In India which year is identified as the great divider year?
(a) 1951 (b) 1947
(c) 1950 (d) 1921
(3) At what interval of year the Census in India is held?
(a) Five (b) Seven
(©) Ten (d Thitrteen ‘
4) In which stage of demographic transition does population explosion occur?
(a) Third (b} Second
(c) First : (d) Fourth
(a)  Discus the causes of low productivity of agriculture in India (14
OR ‘
(a) Discus the advantages and disadvantages of Green Revolution in India.
(b) “Choose correct answer from the following options. (3)

(1) How many coatribution of agricultural sector’s in Indian National
income in 2011-127
(a) 13.9 (b) 12.2
(c) 274 (d 255

"T—rO\
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Which agricultural scientist is known as the pioneer of green
Revolution in the world?

(a) Norman Borlaug ~ {b) Admund Florence
(c) Colleen Clark (d) none of the above
In India how much chemical fertilizer was used in 2014-15 kg per hectare?
(a) [20Kg (b) [24 Kg
(c) 116 Kg (d 25Kg
Explain the importance and problems of agricultural finance in India. (14)
OR
=Critical evaluation of land reforms in India.
Choose correct answer from the following options. 3)
How many sources of agricultural finance in India?
(a) Two (by  Three
(c) Four (d)  Five
Land ceiling should be how many times of economic component?
(a) five times (b} three times
(c) Four times (d) Two times

In India the sectors that provide credit to the farmers can be
divided in how many sections?

(@) four sections (b}  Five section

(¢)  Two section (d)  Three section
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Draw neat diagram wherever necessary
Students can use map stencil with the political boundaries only,
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Elective - [
Geography: 102
Geography of Gujarat (Physical)
Marks: 70

Note: All Questions carry equal marks.
Draw neat diagram wherever necessary

Students can use map stencil with the political boundaries only.

Q1. (A) Discuss the contribution of the geographical location of Gujarat fo its economic

development. _ (14)
Or

Q2. (A) Explain the major physiographic divisions of Gujarat and write a geographical note on

the eastern mountainous region of Gujarat.

Q1. (B) Fill in the blanks (Any four) ' - (04)
1. There are total districts in Gujarat. (33, 34, 36)
ii. Latitude passes through the center of Gujarat. (Capricorn, Cancer, Pole Circle)
iii. Taranga hills are situated in the mountain range. (Sapura, Vindhyachal,
Aravalli)
iv. Saputara is located in district of Gujarat. (Junagadh, Banaskantha, Dang)
v. Gujarat has km long coastline. (5000, 1600, 1450)
vi. As per the geographical area, Gujarat stands in the states of Indian. (Seventh,
second, fifth)
Q2. (A) Explain the distribution of rain in Gujarat with appropriate geographical reasons.(14)
Or
Q2. (A) Write a geographical note on the drainage system of Tal-Gujarat.
Q2. (B) Fill in the blanks (Any four) . {04)
i. Kaprada which is known as the Cherapunji of Gujarat, is located in district.
(Surat, Ahmedabad, Valsad) '
ii. In Gujarat the winter season is felt in months. (March to May, October and

November, December to February)

P- T o
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iii. In Gujarat, in the month of June __winds enter with moisture. (Northeast,

wind, wind, and wind)

iv. The crop in Gujarat during the summer season is called crop. (Kharif, Ravi,
Jayd)

v. The drainage system found in Saurashtra is of shape. (Rounded, Square,
Radial pattern) '

vi. The Shetrunji River emanates from hills. (Saputara, Mandav-garh, Gir)

Q3. (A) Explain the contribution of mineral resources to Gujarat's economic development. (14)
Or '
Q3. (A) Write a geographic report about the following minerals.
Bauxite, Fluorspar, Gypsum, Mineral Oil.
Q3. (B) Fill in the blanks (Any three) (03)
i Soil is used in the pottery industry. (Coral, selective, porcelain)
ii. The largest producer of ceramics in India is located at . (Surat, Jamnagar,
Arsodia)
iii. Minerals are used to melt metals. (Iron, bronze, Fluorspar)
iv. mostly sione is used in construction. (Porcelain, sandstone, limestone)
V. Type coal is obtained from Gujarat. (Bituminous, Lignite, Anthracite)
Q4. (A) Describe the different types of lands of Gujarat, their distribution in Gujarat. (14)
- Or

Q4. (A) Introduce the various forests of Gujarat. Why are the state forests under pressure?

Discuss
Q4. (B) Fill in the blanks (Any three) (03)
i. Black soil forms by the deposition of type of rock. (Sand rock, limestone,

basaltic rock)

ii, The highest humidity storage capacity is in the soil. (Alluvial soil, black soil,

besar soil) _

iil. Crop cultivation is good in the soil of the soil. (Wheat, millet, paddy)

iv. The highest aquifer wells in Gujarat are in district. (Mehsana, Sabarkantha,
Valsad)

v. Agricultural University is located at in South Gujarat. (Bharuch, Valsad,
Navsari) |
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EC-1 102
Statistical Methods
Time : 2-30 Hours) March 2019 [Max. Marks : 70
Q-1(A) (i) Write a note on Defacto methods of collecting census data. 07

ciell 2Lt 1ol B5AR uglA @A 5ot e,

(ii) Write a note on: Population census of India in 2011, 07
g8l cull: 201108 el dloll circll oL,
: OR
Q-1(A)-1. State the uses of Population census. 07

el 2Lt Sletl Qe Guiol e

2. Write a note on Dejure methods of collecting census data. 07

cefl o1t 1ol ouon ugld QA sotlel et

Q-1(B) Answer any Two. 04
AN A & oll ogcltol W\, -
1. At present what is the rank of India in the world from population point of view?
caell ol Ae il el ol £lletimi AU 520 51 D7

2. According to 2011 census, what was the population of Males and Females in India?

2011 ol cacll o133l yasot eRcdul Bl Yo ofl 2ven ¥ecll ecll?

3. State the difficulties faced in conducting population census.

ctefl ot i el Yodellull exuicll

Q-2(A) (1) State the methods of collecting demographic data and write a note on any one of

them. , 07
Hlotel et [Anas wilsst AR s2atell Al ot ot wdl 9RA 35 UR oAly
A,
(2) From the following information regarding two Towns A and B, compare their
health standards and state your conclusion regarding status of health. : 07

ollAofl Ml A 2182 A WA B ot D220 3ANoll B, 6l 232 ot 202 of)
el 521 el A w3 Al AR Relal crl,

Age Town A{ 2182 A) Town B (2182 B)
: Population | No. Of deaths Population | No. of deaths
GHR T _ .
credl | Yoy oll 2luan arell | Yoy oll Avanl
0-5 2000 74 2400 81
5-20 3900 48 4700 52
20-50 10300 64 11200 68
More than30 0 ;
50 ol ay 300 78 800 61

F-To-
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OR .
Q-2(A) (1) Obtain GFR, SFR and TFR from the following data 07
ofl Aoll Wl urell GFR, SFR el TER 2L

Age (GH?) 15-19 | 2024 | 25-29 | 30-34 § 35-39 | 40-44 | 45-49

No. of women _

(E—ﬂb—ﬂ_oﬂ %UJ-EH) 21000 | 20000 | 17000 | 15000 | 14000 | 12000 | S000

No. of Live births. 350 310 440 450 330 120 {4

(clell soHsll

vty

(2) Explain the following terms. 07

ofl Aot UEL AH L,

(a)CDR  (B)IMR  {c¢) GFR :
Q-2(A) Answer any Two. 04

A A AR il ellod .

1. In calculation of TFR it is observed that }, SFR=508 and one of the equally distributed
age groups is 35-39 then what is the value of TFR?

TFR ofl 2@l i g HigH U B ¥ ¥ SFR=508 B. Hlet A (ActZlct Aetl G2
st Uslell s GHR oUW 35-39 © ¢l TFR ofl (Bt A,

2. Write the formula of computing Age specified death rate.
(A2t GHROUGUA HeRER Akhall HIB of Y2 Al

3. Population of specified region is 3,00,000. If 1500 peopie among them die in specific
year, Then what is CDR of that region during that year?

As Yt e ol crcdl 3,00,000 B, 4t Ahlott 1500 A 515 AssA el £R22llet Hey
YA, dl A ytetoll & i o)l CDR $2cl 42

Q-3 (A) Discuss various components of time series. 07

AHRs Alle [Gldu uesl o uAl s,

(B) Obtain Seasonal Indices from the following data.

o{lRofl Wildcll urell W2l yausis S0, 07

Year
o | oo
2011 25 | 37 1 41 | 45
2012 18 | 39 | 46 | 52
2013 13 | 31 | 40 | 38
2014 |22 | 36 | 42 | 51

2
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OR
Q-3(A)(1) Obtain Trend using three yearly moving averages, also find the short term
fluctuations from the following data. 07
ol Aol 1Bl uell g cdofl AR A22A AS v aa weustcllol
duele 0. |
rigiglglglalsislgiglglgly|aisly
ol |S|R|S/%(8|2|5/8(2]&|8|8|8lg|¢8
Profit
33 3713836394338 |43 |46 |48 46|52 5415062
o8l
(2)Fit a straight line to the following time series data. 07
ol Aefl A u@s Rl urell Y2ulle] woct2lloget 53,
Year (ctd) 2005 | 2006 | 2007 | 2008 i 2009
Production GcUlEal
. 5 8 13 15 19
(Tonnes 2ot M)
Q-3(B) Answer any Three. 03

AN A ALl wellod W,

1. State the standard forms of fitting of straight line.
YRUL otl Blocll2oot HZotl Y@t 2560 cvll,

2. Define Time series.
AR Al ol cattvay wQ,

3. Write the formula for calculating seasonal indices.

Al yasisell owgetdl of Yt aul,

4. Give two examples of irregular variations,
WAARA quue ol A Gelo 2,

5. Prices of food grains, when new crop arrives in market is an example of which type of
variation?

AR oldl Uls oo Hl vlacloll dlat U Mellwoll alleldi Udl %2512 A s
ysiell duue 89
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Q-4(A) 1. Define Index Number and write its uses.
Yusis ol cauvan 2l Aot Ul ¢,
2. Calculate the Fisher’s Index Number from the following Data.

ol Aell 2l uzell flatzsll yusis QL.

Base Year Current Year
fem | sz e e el
R Price Quantity Price Quantity

Do GBHA | el | (BHA | weel
A 14 5 18 7
B 11 8 19 10
C 13 4 15 6
D 29 2 22 3
E 07 3 10 2

OR

Q-4(A) 1. Calculate Family Budget Index from the following data,
ol Aol MR uzell SlglAs sipa=ll Yaus s el

Food | Cloths Fuel Rent Miscellaneous
em cdleg | WRLE | 5USL | 6llcdQl | 96§ | URYRQ
Index. No. . .
ﬁusmis 120 110 140 160 130
Weights &li2 |~ 7 3 5 4 1

2. Convert the fol]owing chain base Index No. to the Fixed base Index number.

o{l Al URURLct Y55 RO AULIR Lo YASUEH §R L,

Year (clt) 2001 : 2002 | 2003 | 2004 | 2005
Chain Base Index. No.
(URURl Y.u)
Q-4(B) Answer any Three,
A d AL ot elled AU,
1. What is relation between Laspeyre’s, Paasche’s and Fisher’s Index Numbers?
AR, WA AR (Barzell yusisl a2 9 delt By
2. Which Index Number is called an ideal Index number?
gsall Yusis el YAusis 87
3. What is formula of calculating weight in family budget Index?
5lg(As e ofl fctoll YAsIEHL AR Welell HBef YA Al
4. What is considered as a weight in Laspeyre’s Index Number?
AR YUSISHL Slol R d3LS Aatni 2 &2
5. If Py=20 and P;=30, then what is the value of Index number?
%l P20 AR P1=30, 82 ll Yusis ol Buct decl 62 7

4

95 83 107 | 115 122.

07

07

07

07
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1 (@) sk usdlAl gt wudl
(i) WindowsHi My Computer i<l Recycle Bin [Asl axal.

(i)  Windows ¥l g siesx 3db Ad oietasl ? Amondl 3
R
(i) Windows Hedlafisol dan uedymz wludlEal Bred 3 52 8 A wwendl. ¥
(i)  udre »iladaq (asl Zsui amandl | 3
gt [ddel o-lal -
()  DRei wediel s wwdl GE A Q) 2

@) Cut w3l wdsz Key Ul
(ii) Udreul o-ida si9ad e BNP gid & (W3mild).
(iii)  File Close s w2l al2sz key .weual

2 (@ DAl welll war )

i) (A8 »u[2or RizeHdl s1uel-0ks148l orsual. ' ' ¥
G) (e 20u0al Grewsdl ks il 3
: DL
(i) [4-a 2uBEol [rewql sl areudl. ¥
(ii) At linux $Mss Audl (1) Cat (i) Cd Gii) Ls.
() Dudl usdol wawer il (ul Q6 2

i) GUI, 43 - avil.
(ii) Linux 2l Open source Software €3. (/).
i) CP s+t Gualal sife s osralL e w9, (ug/ig).
3 (@  cladl wsAl g wuul ;0 .
| 6] MS-ExcelMl 23Ul 264 qundl. ¥

(ii) MS-Excel+i sidust =gt functions uxLl. 3
: D)

)  MS-Excel b Gualor ail Al cwalisar 2l - | ¥

(i1) MS-Excel i Cell-Range i Celi-Reference AHolcl, 3

(b)  flasi wesldl aaist 2yl (i A o) ¢
(i)  MS-Excel > wlsdlle ulsedr . (W3/mlE).
(i)  MS-Excel 58 sudlal oiriief & 7
(i) ~ MS-Excel Yl File Save $2at 2l shortcut key #sul.

[P.T.0.
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(a)

(b)
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AL WAl g, Ul

(i)
(ii)

(i)
(i)

MS-Excel 4 Conditional Formating [@8 25 -iiu i,
A2l Function Ax%ldl.
G) sam ( ) Gi) IF ( ) (i) Lower ( ).
| w2
MS-Excel cex charts [l 25 «la el
-l Functions ¥l
(i) MID ) (i) Round { ) (iit) Count ( )

ARl wetlol g sl @Il d)

(i
(ii)
(iii)

sduel o Data M-l functions -l U™ aml.

MS-Excel i 55 widse 4 @l File A open 53 usy & ?

MS-Excel i oi-iidd §15d- vige-agd -t 2l

ENGLISH VERSION

Instruction : Figures to right indicates full marks.
Anser the following questions.

1. (a)

(b)

2 (a)

(b)

(i)
(i)
(1)
(ii)

Explain about My Computer and Recycle Bin in Windows.
How to creat New Folder in Windows ? Explain
OR

Why windowa is known as Multitasking and Multiuser ? Explain,

Explain Point in Short.

Answer the following questions (any two) :

(i)
(ii)
(iii)

What Shortcut Key is used to cut.
.BNP is a file extension of point (True / False) :
Which shorteut Key is used to close the File ?

Answer the following questions :

(i)
(i)
(i)
(ii)

Discuss the advantages and disadvantages of Linux OS
Discuss the History of Linux OS.
OR
Explain the functions of Linux OS .
Explain the following linux commands .
(i) Cut (ii) Cd (iii) Ls

Answer the following questions {(any two) :

(1)
(ii)
( iii )

GUI stands Fas | _
Linux is a open source software (True / False).
CP command is used copy file (True / False).

Answer the following questions :

(i)
(ii)

(i)

(ii)

Explain the starting screen of MS-Excel. .
Explain ay three functions in MS-Excel
OR
Discuss the use of MS-Excel and its characteristics.

Explain Cell-Range and Cell-Reference in MS-Excel.

LS

(8]

ted



(b)

4 (a)

(b)

1103M936-3

Answer the following questions (any two) ;

() MS-Excel is a spreadsheet software (True / False)

(i) Which company has made MS-Excel.

(iii) Which Shortcut Key is used to save file in MS-Excel.

Answer the following questions :
(1)  Write a short note on Conditional Formating in MS-Excel
(it)  Explain the following functions. '

(D) Sum () (i) [F () (iii) Lower ( ).

OR

(1)  Write a short note on charts in MS-Excel.
(ii) Explain the following functions. |

(1)MID ( ) (i1)Round ( ) (iii) Count ( ).
Answer the following questions (any two) :
(1) Give ahy two functions Name of Data.
(it}  Which shortcut Key is used to open file in MS-Excel ?
(iii)}) Give the name.of extension of File made in MS-Excel.

[

(o8

(5]

[P.T.0.
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ga ¢ (1) 8 Wl A AW 6.
() el euxy-l 2is opL eald ©.

4 () Srurd el olrd asdel doidl R Rrganl 2l s ¥
2yl
()  adqgwe <delRairt cud wd-l deldl [ @odar %Rl
(o) 0 aude well- gatet il (slfusy wr) ¥
(1)  -ldlRdiri-l AT wHA BRI HRAHEL 85 wd SUAHL Eia U ?
(2) -l et ddlk we suni wwd 8¢
(3) el wen s Wl sl edl?
(¥)  wa-lodl Aluest clRdel 541 AzAHL el ?
(4)  sell wRetd sSugl 2R velt ARsibuy -y 2ul.
(g)  tadasit sl avidal sl s v,
2 (@) Sudai oikd dis maidw siReld [@rgdadl weudl. - 9%
' D) |
() sl el grudl e wR 2R @AYl wRd s,
(o) DA wyde el geuet sudl, (Sust wR) ¥
(1) wallwildl wsloiad - oeudl.
() yHlolul wafd Aned A 2l
(3) curddl 58 Heit wRfAs sRald sl ewruni 3uid a4y?
(¥) sl oimil sul aoeed oAl oumil daAlad wu?
(W) sellar-a-es” Ydsd dinay sRAL ouml - slel qate £y,
() Yot e WRA U ¥4 adw “uddl sdl?
3 (2)  ouzddl s o Rsi QA Roldar el 1y
' Yl

(z»_t) Bt el sl e ucdi W ad auelel B [rgasi SEREIN
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(o) DA »udd ueslil waler wuul. (stduel set)

)

q‘
2)
3

Y
S

(
(
(3)
(¥)
(w)
(s)

efdly s ~wle vzt wlR(As slaviql -um @,

“wfl2 U3 A wl da UAL el 8dl?

el Sl 2uden sQ@UAL Ay weual.
SR sleel AR UA b qqel HRAAAL sdl?
llRd-l 59Ul A weld YSelHAl ux geudl.
“PUss 2507 Yads duisd ud gl

25 -llu avll (siduel o)

(1)
(2)

(3)

-~

“Oul ULBE L oA wRA
el 3 AfRAs Al
widrdr el wlRens Aavit

Q2 e usfil waet wudl, (sidust wel)

)

1
R
3

T T e
~

N Vet N e

—
=

“ghvp el uvdld ulfR(As sl -ux gsudl.
il 3 wvatd el et sl

“flait 337 B sul A 2 WY ed,
“aflait >l (s sl un aeual,
“fieir 3 Ba, um asual.
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1. (a) Discuss Robinson Crusoe by Daniel Defoe as an adventurous novel, 17
OR

(b)Write short notes on
1) Character sketch of the Portuguese Captain
2) Character sketch of Friday
2. Write short notes on (any two) 17
I) Govind’s adventures as a mad man
2) Comrade L.ong-Nose’s Life
3} Central idea of the story ‘How Much Land Does a Man Need
3. (a) Write a paragraph on any one of the following topics 10
1) My Favourite Sportsperson
2) Gir- The Pride of Gujarat
3) Importance of English in India
(b) Translate the following passage into Hindi or Gujarati ' 07

Child labour is the illegal act which forces children to be away from of their normal
childhood, their schooling, their normal growth and development. Child labour is a big
social issue; it is destroying the nation’s future by harming the physical and mental
development of its future leaders. It is very dangerous for children in all aspects such as
mentally, physically, socially, and morally. It interferes with the schooling of children,
deprives their opportunity to attend school, forces them fo leave school prematurely,
forces them to perform tasks of long hours and heavy work, etc.

Child labour has enslaved the life of children, separated them from their childhood,
education and families, and has exposed them to serious hazards, illnesses, diseases and
many more harms at a very early age. A big percentage of children are involved in child
labour in the field of agriculture, and other involved fields are fishing, mining and
quarrying, construction, manufacturing, restaurants and hotels, storage, transport,
communications, insurance. finance, roal-estate, business services and many more. It has
been spread all over the country like a disease and poison which needed to be driven out
to save the present of children and future of country. '

4. (a) Fill in the blanks with the proper word choosing from those given in 05
each bracket:
1) The narrated by this man is not believable, (tail/tale)
2) Hina has this painting. (made/maid)
3) Isawa in the zoo. (deet/dear)
4) The teacher has come to the class an ____late. {our/hour)
5) The ___ of sheep started climbing a hill. (heard/herd)

(b} Provide two different meanings of the following homonyms: ' 04
(i) Can (ii) Kind (iii) Park (iv) Club
, P o

P ¥



{(¢) Choose the correct option from those given under each statement or

M9t - o
49

question and rewrite them:

1)

2)

3)

4)

5)

6)

7)

The long nosed one acted in a film named
The Long Nosed One

b. Brother Long Nose

¢. The Human Submarine

d. The Submarine

&

What did the doctors do to find out whether the nose of the Long Nosed
One was real or fake?

a. They asked him,

b. They operated his nose.

c. They harassed his mother.

d. They punctured his nose with a needle.

What was the reason of Govind Singh’s anxiety in the beginning of the
lesson?

a. A registered postal cover.

b. Atelegram.

¢. Anemail.

d. A courier.

What did Govind Singh discover about himself?

a. He could make interesting paintings.

b. He could make fascinating models out of clay and wood dust.
c. He could make interesting paintings out of wood dust.

d. He could make attractive toys for children.

The envelope addressed to Govind Singh actually contained a cheque of
a. T15

b. 2100

c. T125

d. 2200

What led Pahom to the idea of acquiring more and more land for

himself?

a. His fight with his brother over a piece of land.

b. His father’s unequal distribution of land amongst the two brothers.
c. His sister-in-law’s boasting about her rich lifestyle.

d. His wife’s constant nagging for more money.

What was the price quoted by Bashkirs for their land?
a. One thousand rubles a day

b. One thousand rubles per acre

¢. One thousand rubles per square meter

d. One thousand rubles per kilometre -



M»C?S//Pg

8) kept Robinson as a slave in Morocco
a. A Spanish sailor
b. An African captain
¢. A Moroccan merchant
d. A Turkish captain
9) How many years did Robinson Crusoe stay on his island?
a. 26
b. 25
c. 28
d. 30
10) Where was Robinson Crusoe born?
a. England
b. Germany
c. Affrica
d. TItaly

------------------------------------------------------------------------






=133 | : ' 1203M952 Candidate’s Seat No :’ '
B.A. (Sem.-1) Examination
EC-11 103
Urdu :
-Time : 2-30 Hours] March 2019 [Max. Marks : 70

ol : olt uAlell Gei? wiucll %33l B wal Aol Miba wugll oy dRel B.

us 4] G osollete] wiulls Qe [AQ Qo &l ¥
Rt
G clsa At (AN cvll.
ys o] Sl unt AR waR B8l @ul (GE uaa il et 1y ¥
=J++7 (1

= +J+0 (@
:|+u+;f +,  (3)
t+g+J+e (@
=+ s+ +o (5)
=t (6)
=+ I+ 7
Ysl 2 : ] ol WA cliselle] GEHL Ul sA (ST UL Alc) | ¥

(1) He Detell Fsaciel edl 52 8, decll « A siiRERel g2 28 8.

) Wsell Yuie ollogte] alle wa B,

3) well Yl Bual i Yell 22, @il el o 2oL ctiatell 1ol B Twudl.
() 20Ul cusll wuel et 52l 8w flcll ABA. aildctr Hlot 289 BN,

(5) UM A 2ist ol As W As seaAul @ o1F Q.

©6) Wettoll @012 g2 w28l us A Hietailell sl edell B,

(7) AARHL U cdrd Yoot D Hat 51Elal ABlA o Aell ctet Holl ascl «iell.

(8) e (Qan Aell A Y5l 8. el Syl ol el s B,

9 @Qasllact wetcll $oll BH worciesl R W Az A @S A B uUA vRLo Ja
el et 52 B

(10) AlBUel QM wul Yell W actell AR ot 83 @l Yl W 32cll wrie B d

gl ascl ol
i (P.T.0)



M AV~ o

(]

Y

B.A.SEMSTER-I (One) ) URDU -Elective —11-103
ys 2 | M U (2) UMY (3) SIET
(4) Mk (5) A (6) 65U
o1 A AsElell GE el cvll (8l UQL AR)
ys 3 Y Gfoll Geatd el st @A w2 cull.
u{Lell
alorRtcHl GEall Gealal wa (Asiuoll wAl 53l
Yl 3yl [ol] el war sl (S8 ull 8(s)}
| = (D)
= 22 (2)
= 24 (3)
- Y w
J;l, (5)
e (6)
g @

s ¥ ;[ aerRtcl et GuR GE eltlloll A3 WU,

AL

Gatl [@stauui 912 2Lelotl Yllej AdLELL LA,
wal s o] o0 wilet csdle] G et ajle 5SS URL ARY

(1) 56 ULl cABAA AL vl wRuel A2t dl dal Al el sl el

@) uc 4dl AT wnd a8 od B ua ugAoell At sttt 8.

@) s, Slel ual clet- L AR LMol Uctal 5RellR 280l 612 B,

1Y

(@) eliotell aet, gletell ot usetelletcttell Hot vel Sutetetdlell Peiol Yo ol B,

(5) Ayl Acll Hefrl R BlE worul ol B GEl, g:u{l wel [ 8lu 8.

(6) A oldl tRlclolR sRcll Welloll EIY PulclellR ALl sl 8.
) pclotl s YF well sug Aell g ogsilet B,



f') /33 1263M953 Candidate’s Seat No °

B.A. (Sem.-1) Examination
EC-II 103 Philosophy
(World Religion OR Logic)

Time : 2-30 Hours] March 2019 [Max, Marks
U1, cbettoll Ao cava W waR csellelo] Juciall gy 2% 53, ¥
uYell
-2, llotel A @l dslada Ut dsell@e] 8 agldl,
UA-1.(00) (1A e yaloil G 2 (Slsuel AR ) : 0¥

(1) ‘Logos’ sluleoll el 9 aua d7

() b ot Qe Sl B2

(3) el glRL calsd Udl [QARloj Rstiot- Hot 53 B2
(¥) Al Qu@®s Ruell dzeu v

0 FRwl@s ARtueni udlol Avay dadl 2

(s))  LLetael ecllent s@aRuietoll dven 3ocl 82

Us-2. Rzwl@s @Qutetl udell U uRaz wned. Y
Aall

ua-2. Rwls ARl Ae wR s wnemal
Y- (o) o{lA WAl usloll Gt ) (sleuel W) 0¥

(V) AUBd @AY A wd?

() adla Qe ui 3eey ugl dla?

3)  sl@d Quuetd 53 ue of 20122

(%) ud GReaue @Baue B. sal Usiee] Qe B.
0 ALl A1 yan wuR R 9 sda

(5) Lw®s R tuetsi udlell dvey decl 2

Ud-3. Yo AUELs AlRkel questd). ¥
wala
U3, Bllefiiotoll caltual N Aott UstA Aol

-3 (od) ol el usllett 63wl (Alsuel e ) 03
PTo

: 70



Mas . o
(v Beusgetell visel s2citsll dldl decll B2
(3) (s AQuls dldwst Aed g2
- (3) et uste [Qustul Uglell caulia ¢ {la ana?
(%) ‘el usk [Qutetnl UElell clli s {la awa?
()  dsEUs dQue Bed 9

Uy, el Quelott ustdl umodl .
v el
uay. ([QAseust val wyra dlfs 8180 Akl Hel Al
Ua-¥.(0t) ofl A el Yalloll Gl 2l (Bloun AR )
(1) cEsses v of Uclctycd §?
(R) 5518 ‘&' of Al 9?
(3) udl Al uAusEl 82 Bal ysike] [Qulel &7
%) s st2dlell dvau 32clle
(W) vat [Qeetul vetue Reauat s3] ue dlaz

P

1¥

03



M 183 -3

B.A. Sem 1 — Philosophy Examination

~ Paper —101 - Elective-2 ‘Deductive Logic’(old & new)

Instruction:- All questions carries equal marks. Total Marks -70

Q - 1. Give the proper definition of logic and narrate the formal nature of logic. 14
| OR
Q - 1. Describe in detail the scope of Logic on the base of the difference between
deductions and induction. _
Q-1.(B) Short questions (any four) | 04

1. What is the meaning of the word ‘Logos’?

2. Who is the father of Logic?

3. The science expressing thoughts through language’ who says so?
4. How many categorical propositions did Aristotle

5. How many terms are there in syllogism?

6. How many number are there of conclusion in deductive argument?.

Q - 2. Explain fully the distribution of Categorical proposition. 14
. OR ‘

Q -2. Explain the figures and modes of Categorical Syllogism.

Q-2.(B) Short questions (any four) 04

1. Where Subordination does comes under?

2. How many are there in valid syllogism?

3. Which term cannot be in conclusion?

4. What type of proposition is All °S’ is ‘P*?

5. What is the first fundamental premise of syllogism?
‘6. How many terms are there in syllogism?

Q - 3. Explain the pure Hypothetical Syllogism. o : 14
OR

Q-3. Clarify the definition and types of dilemma.



Masa -4 .
(Q-3.(B) Short questions {Three 03

i. How many method of Refutation of dilemma.

2. What is mixed Hypothetical syllogism?

3. How is the distribution of terms in ‘A’ proposition?

4, How is the distribution of terms in ‘E’ proposition?

5. What is Disjunctive Syllogism?
Q - 4. Explain the types of Simple proposition. i4

OR '

Q - 4. Explain the Truth value of “V” and ‘&’ Logical constant.
(Q-4.(B) Short questions (any Three) 03

What is the’V’ truth Value of logical constant?

What is the’& truth Value of logical constant?

All the Sants are benevolent what type of proposition is this?
What are the numbers of Logical constants?

Which term excepted minor term is there in minor premise?

I .

I
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ENGLISH VERSION

Instruction : Figures to right indicates full marks.

(a)

(a)
(b)

(a)

(a)
(b)

(a)

3 (a)
(b)

(a)

(a)
(b)

Discuss about the salient features of Indian Culture.
‘ OR
Explain the sculpture art Harrapan Civilization.
Wiite the answer in brief ( any four) :
(1) Harappa and Mohenjo-daro are situated on the banks of which river 9
(2) Why is Indus Civilization known as Harappan Culture ?
(3) Which archeologists discovered the remains of Haraappan Culture ?
(4) Mention the names of the centers of Harappan Culture of Pakistan,
(5) Name the PuPubic Monuments of Mohejo daro.
(6) Whatis “Titikshavruti’ ?
Narrate the social life of Harappan Culture.
OR
Discuss about the religious life of Harappan Culture.
Write the answer in brief ( any four) :
(1) Explain the meaning of Ward Mohejo daro.
(2) How many years old is Harappan Civilization ?
(3) Where is Lothal Sicuated ?
(4) Which type of toys are found in Harrappan Culture ?
(5) Mention the Sources of entertainment of Harrappan Culture,
(6) Name the ornaments of Harrappan Culture.
Give an introduction about ffor Smhitas.
OR
Discribe about religious condition of Vedic age.
Write the answer in brief ( any three) :
(1) Explain the word Upnishad’.
(2) Whatis “Vedirayi’ ?
(3) Name the Political institutions of Vedic age.
(4) . Mention the branches of Vedic age.
(5) For Which ved Indian Music derived ?
Write about religious condition and economic conditionof post Vedic age.
OR -

Giive an intriduction of *Sutrajratits’ and ‘Sdaddarshan’ during the post Vedic Period.

Write the answer in brief ( any three) :

(1) Which information we get from ‘Dharmsutra’ ?
(2) Who the books written by Panini.

(3) Who has wrote ‘Chhanda’ ?

(4) Name the Mahajanpads of post Vedic age
(5) Which are four Upvedas ?

14

14
04

14

14
04

14

14
03

14

03
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Instruction : (1) Figures to right indicates full marks.
(2) All questions are compulsory.

(a) Define political science. Discuss its scope. 14
OR

What is meant by political science? Explain & clarity its relation with other subjects? 14

Answer any four of one-two lines : 04

jav)
e

(1) In what does power of state lie?
( 2) Explain the importance of study of political science in brief.
( 3) Political science has relation with which another main subject?
(4) State the defination of political science given by Stephen Leacock.
(5) Whatdoes freeman say about the relationship between political science & History?
(6) What does Garner say about the relationship between political science & History.

P W e

(a) Whatis state? Explain the fundamental elements/characteristics in detail. 14
OR
a) Define state. Describe its working,
b ) Answer any four in one-two lines : 04
( 1) Give the defination of state by Jin Bordin,
(2) Regarding state give the defination of Bluncili.
( 3) What are the fundamental elements of state?
{( 4) Give the defination of state by Woodraw Willson?
( 5) What are the voluntary functions of state?
( 6) What are the mendatory functions of state?
(a) Give the meaning of Sovereignty and state its types? 14
OR
{a) Define sovereignty & describe its characteristics. 14
(b)) Write any three in one-two lines only : 03
(1) First of all who coined the word compite power.
(2) Who gave the characteristics of sovereignty first?
(3) What are the types of sovereignty?
(4) What are the restrictions on sovereignty?
(5) Who has sovereign power in democracy?
( 6 ) Give the characteristics of Austin on sorereignty?
(a) Whatis meant by equality? Explain its types in detail? 14
OR
(a) Does social & economic equality exist in present situation? Criticise it? 14
( b} Answer any three in one-two lines : 03

( 1) State the types of equality?

(2) Whatis the true meaning of equality?
(3) Give the defination of economic equality?
(4) What does political equality mean?

(5) What does social equality mean?
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Instruction : (1) Figures to right indicates full marks.

1 ()
1 (a)
(b)
2 (a)
(a)
(b)
3 (a)
(a)
(b)
4 (a)
(a)
(b)

(2) All questions are compulsory.

Give the meaning of Geography and explain it’s subject matter.
OR
Explain in detail the solar system.
True or False (any four) :
(1) The general discription of the regians of the earth is called general geography.
(2) The place of solar system is in irregular galaxy.
(3) The gravitational force of the sun is 10 times more than the earth.
(4) The shining outside surface of the sun is called photosphere.
(5) The systemic description of any geographical region is called soil geography.

Give the meaning of latitude, explain in detail torrid, temperate and frigid zones.
‘ OR
What is Moon Eclipse? Explain in detail torrid, temprate and frigid zones.
True or False (any four) : '
(1) The 0° longitude is called international date line.
(2) The 23% latitude of south is called the tropic of cancer.
(3) The 0° latitude is called the equator.
(4) When moon comes before the sun, the sun disappers completly this short of
phenomenan is called Annular Solar Eclipse.
(5) The revolving path of the eath is called orbit.

Explain in detail about the monsoon winds in India.
A OR
What is ment by weather and climate? Explain in detail the factor affacting the climate.
True or False (any three) :
(1) The long time condition of the atmosphere is called weather.
(2) The climate of India is equatorial type. '
(3) The sammer type condition prevails in Gujarat from March to May.
(4) The ozone gas obsorbs the ultraviolet rays of the Sun.

Explain the meaning and types of resources and mention the problems of Indian forests
and forest conservation.

OR ' _
Mention the types of resources, give the information in detail about the types of Indian
forest resources.

~True or False (any three) :

(1) The Natural oil is a renewable resources.

(2) The water is a renewable resources,

(3) The coniferous forests are situated in the range of arvallis.

(4) The deseart type vegetation are situated in those regions of India where the
average rainfall is less than 100 cm.
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Q-1 (A) (i} Write difference between primary data and secondary data.
(i}  Explain the methods of collecting primary data.
OR
a-1 (A) (i) Discuss different types of Classification.
(i}  Prepare Frequency distribution:
0,1,2,2,01,2,2,3,2,0,4,2,0,2,1,2,3,2,1,0,2,2,1,1
Q-1 (B) Answer the followings (Any 2):
1. State types of Classifications.
2. Write any two sources of Secondary data.
3. Write any two sources of Primary data.
Q-2 (A} (i) Define Mean and find mean of the following observations;
15,17,19,21,25,26,27,18
(i) Find Median and D from the following data.
Sale 10-20 20-30 30-40 40-50 50-60
{in thousand Rs.)
No. of days 3 6 11 3 2
. OR
Q-2 (A} (i} Following is the data regarding sale of ltems and Cost of respective items. Find Dg and
Pgg. :
Cost of item 15 16 17 18 19
No. of item Sold 10 12 15 10 3
(ii) From following distribution find Mode.
Class 0-¢ | 10-19 | 20-29 | 30-39 | 40-49 | 50-59
Freguency 2 5 10 15 9 9
0-2  {B) Answer the followings (Any 2):
{iy WEZx=20,n=4then¥ =
(i) Find Mode of the following data
12,13, 14,12, 12, 16, 14, 12, 18,
(i) If & = 20, Median M = 21.65 then find Mode Z,
a-3 (A} (i) Define Dispersion and write the merits and demerits of Standard Deviation.
(i) Find Standard Deviation from the following frequency distribution.
Age 20-25 25-30 30-35 35-40 40-A5 45-50 50-55
No. of 170 110 - 80 45 40 30 25
Employees
OR
Q-3 (A) (i) Find Range and Mean Deviation from the following data.
58,39, 22, 11, 44, 28, 49, 55, 41 and 42,
(if) Calculate Quartile Deviation from the following data.
 ltem 60 70 80 90 100 110
Frequency 5 6 9 13 8 9
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Fill in the blanks using appropriate alternative (Any 3)

(i) Mean Deviation is a measure of
{a) Central Tendency (b} Dispersion {c)- Correiatnon (d) None of the above

(i) measure of dispersion ensures highest degree of reliability.
{a} Range (b) Mean Deviation (c) Quartile Deviation {d) Standard Deviation
{ili) The Standard Deviations of Two groups A and B are 12 and 40 respectively,
is more stable,
{a) A (b} B f{cjBoth (d) None
{iv}) Standard Deviation of 3,3,3,3,3,3 is
(ayo{b} 3{c) 1 (d) None of the above
{v) Range of 10, 11,15,12s
{a) 10 (b) 5 {c) 3 (d) 2

(i} Explain Skewness and discuss its types in detail.

' {ii) Find Bowley's coefficient of skewness for the following frequency distribution.

Classes 0-10 16-20 20-30 30-40
freg 1 3 4 2
OR

group

(i) Write a short note on Tests of Skewness and find Bowley's Coefficient of Skewness from the

following data.
Vaiue 100 200 300 400 500

Frequency 4 5 12 22 17
(il) Caleulate Karl Peason's coefficient of skewness from the following data.

Class 0-50 | 50-100 | 100-150 | 150-200 | 200-250

Frequency 4 8 16 8 4

* Fill in the blanks using appropriaté alternative. {Any Three)

{i) For a symmetric frequency distribution the co-efficient of Skewness is
(a) -1 (b) +1 () 0 (d}0.5

(i)} Range of coefficient of skewness for the distribution whose mode is calculated with the

formula Z=3M-2X can be

@-1<j <1 (b)0sjsl (¢ -1sj<0 {d)-3<j<3
(iii) is true for a negatively skewed distribution?

(3) ¥<M<Z  (b)X=M=Z (c)F>M>2  {dIM<X<z

tiv) IfX =25 M = 24,5 = 10 then Kar!'s Pearson coefficient of skewness is
{a) 0.1 {b) 0 {c} 0.2 {d) 0.15
{v) ! Median =2, Q; = 1 and Qs = 3 respectively then Bowley's Coefficient of
skewnessis___ .
(@) 1 (b) O {iii}) 3 {d) 2
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(b ) der 231 »led g | 1
2l ‘
( a ) Network »led 9? An%ldl. Network-tl WSl <Ux 2l . _ 9
(b)) gda w3 ved g q
2 (a) -0 [Fotdl sendl 9
Web Brouser, Websity
( b ) TCP/IP, SMTP + y3a«us duil. ' 2
w2l
(a) www <l slfuel 3 sl AMedl. Facebook l2d g _ ' 9
( b)) TS, HUB g 8. s
3 (a) HIML 3 2uddl LIST <l %512 Audl. ,
{ b ) <SUB> <SUP> Tag uueldl. | , 2
: w2l '
( a) A4l ATG Gelsrul e wxwidl. ' -9
<FONT>, <FRAME>, <BLINK>, <BOPY>
( b ) <TR> <TD> Tag uuldl.
¥ (a ) TABLE TAG auoridal. (Gslsrel 2uel) |
( b ) <U> <B> Tag uuldl. - 2
Y '
( a ) Websitdl form -l Guulol g €. uMwidl. Formd, GereRRLBLu .
b ) <HR>, <PER> Tag #%ldl. : 2

[P.T.O.



7 (a')l
(b))

(a)
(b)

2 (a)
(b)

(a)
(b))

(a)
(b)

1103M959-2

Explain following terms.
serch Engine, webserver, ISP
What is web Address?
OR
What is Network? VExplain list of different types of Network exp]airi Internet.
What is E-mail Address.

Explain following terms.

Web Brouser, Websity

Give full name TCP/IP, SMTP

' OR

Explain any 3 Faciliion in www. What is Facebook.
What is IIS, HUB

BExplain type of List in HIML.

) Explain <SUB>, <SUP> Tag.

OR
Explain following Tag.
<FONT>, <FRAME>, <BLINK>, <BOPY>
Explain <TR>, <TD> Tag.

Explain TABLE: TAG with Example.
Explain <U>, <B> Tag
OR
What is the use. of from in Websi¢? Explain and give a example.
Explain <HR>, <PER> Tag.
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Instruction : Figures to right indicates full marks.

1 (a)

(a)
(b)

2 (a'j

(a)
(b)

Discuss the historical origin of National Service Scheme. 14
OR '

Explain the Motto and Badge of National Service Scheme.

Select an approriate alternative as answer for the following questions. 4

(1) From where the symbol of National Service Scheme is taken?
(a) Konark’s sun temple (b) Ashok chakra (c) Charkho 7
(2) How many axle are there in the badge of NSS?
(a) Eight (b) Six (¢) Twelve
(3) What the Motto of National Service Scheme?
(a) Each for all & all for each (b) Not me but you (c¢) Self Evaluation
(4) When did National Service Scheme started?
(a) September 24, 1969 (b) September 22, 1969 (¢) December 2, 1969.

Explain the administrative structure of National Service Scheme. 14
OR -

By giving the menaning of special camp. Discuss in short out the activities?

Select an approriate alternative as answer for the following questions. 4

(1) Who coordiantes the activities of National Service Scheme at college level?
(a) Programme Officer (b) Co-odinaters (c) Principles.
(2) At present what is the time duration for special camp?
(a) 10 days (b) 7 days (c) 9 days :
(3) Where the traning centre for the program officer is located?
(a) Gujarat Vidhyapith, Ahmedabad (b) Guajrat University, Ahmedabad
(c) M.S. University, Vadodara.
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(a)
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(4) Which is the head quate for state National Service Scheme?
(a) National Service Scheme Cell, Gandhinagar
(b) National Service Scheme Cell, Vadodara (c) Regional Office, Ahmedabad.

Discuss the objective for adoption activity of National Service Scheme. _‘ 14
OR

Discuss the addoption program activitly of National Service Scheme, ,

Select an approriate alternative as answer for the following questions. 3

(1) What we called a process of deciding a village or a slum area for the overall development?
(a) Adoption (b) Government (c) Non-Government.
(2) In which agenda the concept of adoption of Village is included?
(a) National Service Scheme (b) Survey (c) Information Center
(3) Which one of the following give co-operation for the activities at adopted village.
(a) Education development (b) District/Taluka Panchayat
(c) Revenue department.

Explain any-two youth employment “Yogana™ implemented by Indian Government. ‘ 14
: OR

Discuss Social Recognition of youth through National Service Scheme.

Select an approriate alternative as answer for the following questions. - 3

(1) How many hours voluntor of NSS reguire to work for social services?
(a) 120 (b) 240 (c) 200
(2) What is the age for gefting voting right for the youth?
(a) 16 (b) 18 (c) 21
(3) Which award is considered as the best awared for the NSS volunter?
(a) Indira Gandhi award (b) State award
(¢) Unveristy award.







